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Y G2 (ZELRGMNL/=RH)
e A 22| (&9 HM
) _ AT
SAN-ZH-SA(FA) - NFAY - BES O AF K bﬂ/‘\_“’” Hlw &2
307 @Iztol A 20,000 0 20,000
02 QIHIAANEX 20,000 0 20,000
OZ=d M AINEX
10,000,000 * 20HEHAl * 13 20,000
401 AlZHIZL S 129,850 0 129,850
01 Al&HI 129,850 0 129,850
Og=d =Y UMY SEHESEHEA
1,750,000,000& * 200H4 * 0.371/100 129,850
oA EX HE(SSENMUHE/THLETH - 12k ]) 6,000,000 3,470,000 2,530,000
= 3,600,000
< 920,000
Al 1,480,000
ol &5 Xl 2el 6,000,000 3,470,000 2,530,000
= 3,600,000
< 920,000
7 Al 1,480,000
SO ASTNEAE (2) 2,500,000 2,470,000 30,000
= 1,500,000
[ 500,000
Al 500,000
401 Al&HIL2CHY| 2,500,000 2,470,000 30,000
= 1,500,000
< 500,000
Al 500,000
01 Al&HI 2,491,000 2,461,108 29,892
OsHE E=X=7 safats N AL
2,500,000,000& * 14l = 99.64/100 2,491,000
= 1,500,000
[ 500,000
Al 491,000
03 A&20HYI 9,000 8,892 108
O=HE X7 =S KME A
2,500,000,000& = 141 * 0.36/100 9,000
XA E X2 E (=) 3,500,000 1,000,000 2,500,000
= 2,100,000
[ 420,000
Al 980,000
401 AlZHIZ S 3,500,000 1,000,000 2,500,000
= 2,100,000
< 420,000
Al 980,000
01 Al&HI 3,487,400 993,700 2,493,700
O=SHAE SEXT MaHAE X 2HYIALL
1,000,000 * 1,500m * 99.64/100 1,494,600
= 900,000
[ 180,000




A X==2 T
HH: THolAEX HH(SSENMULSH/THLT - 212)

ol olasAl 2

-

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
Al 414,600
OAMIIX ASESXS Mol RAS X2 EHIALY
2,000,000,0002 * 14l = 99.64/100 1,992,800
= 1,200,000
[= 240,000
Al 552,800
03 Al&=2CHHI 12,600 6,300 6,300
O2HH SHEXT MWHASE X 2HHIALY
1,000,000 * 1,500m * 0.36/100 5,400
OAIIIX ASESXS THoHRASE X 2= ALY
2,000,000,0002 * 14! * 0.36/100 7,200
HESHHH| (XIS (IIEHIIE) 102,996 100,755 2,241
2 102,996 100,755 2,241
=24 102,996 100,755 2,241
201 LEt2HH| 22,416 20,175 2,241
01 AtRZ2lH] 22,416 20,175 2,241
O=SAMEX R (M=)
13,0008 * 218tA * 128 3,276
OEZ0AlH| 5,0008 * 21 » 6Al » 12& 7,560
Ot &2 100,000 * 12& 1,200
OARD THRUY 50,0002 * 12& 600
OARB 24| 8,520
— =2 A 22l 500,000 * 1.5CH 750
—Z2IE 2] 100,000 * 5CH * 50/100 250
—=2A EY 200,000 * 53| = 1.5CH 1,500
—T2IHII(EY) EY
200,000 * 53] * 5CH 5,000
—pc=2l 100,000 = 21CH * 20/100 420
—JIEt ==2IH] 50,0002 * 12& 600
OJ|E At 22l 5,0008 * 219 * 128 1,260
202 OfH] 75,180 75,180 0
01 2o 75,180 75,180 0
OX 22l AR2=X 04| 75,180
—ZHHOHl 20,0009 * 122 » 21H * 128 60,480
— 20| 70,0002 » 10Y * 21X 14,700
203 2= 4,200 4,200 0
04 BARIARE=LIH| 4,200 4,200 0
ORMN2IALEEH| 350,000 * 12 4,200
204 R AHH| 1,200 1,200 0
01 MMZ A2 LHAY| 1,200 1,200 0
OZXHMSA2LHAH| (X =T UH)
100,000 * 1H * 128 1,200
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A X==2 T
HH: NWRES(XULH)(SSE M LA /TH
Sel: WRHAKZ

_ _ _ Muo

SN CR(EH) - NRAY - BES 01l &k o e HRE2
NRgs(X=LTHA)(SSEMLHAE/THHST - 21gke) 305, 156 280,396 24,760
LHEHHXIE 305, 156 280,396 24,760
HEHHKIE 305, 156 280,396 24,760
02 JI3dES 305, 156 280,396 24,760
01 JISHES 305, 156 280,396 24,760

Om-2e 2 s (M & ordze =28
H67x) 91,546,577,990& = 1/3 = 1/100 305, 156
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